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Reg. No.

IV Semester B.A. Degree Examination, September - 2023
ECONOMICS
Statistics for Economics
(NEP Scheme (F)

Time : 2% Hours Maximum Marks : 60
Instructions to Candidates:
1) Answer should be written completely either in English or in Kannada.
2)  Answer of Part - A should be continuous.
3)  Answer should be precise.
PART-A

Answer any TEN of the following in one sentence. Each question carries 1 mark.
AT CIRIYTRETR 10 [3R9R word =TT, LVIdR. Id BZne 1 ©0s.(10x1=10)
1. a) What is statistics ?
0859, To%, 0BT ?
b) What are primary data and secondary data ?
T, 0T €508 0BT TFY HBeoDd ©od 03N ROTTEIO ?
c) Calculate median for the following data
ZENT TZ03NEN OGT TOEOREROWD.
X: 2,5, 8,10, 12, 15
d) If Arithmetic mean X =394 and median As=40.7, Calculate mode Z.
508MRE32 BOORO X =39.4 0B RFT M =40.7, BSTT WIOPT Z ToBIZBOAD.

e) What are the components of time series ?
B3003> 368030 DFNFO IR ?

f)  What is cumulative frequency ?
Doede ©3,8 HoTTeRd ?
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g) Calculate range and its co-efficient for the following data.
39NS Bo088 QMY BT ©ud romos TR0
X : 10, 15, 12, 8, 6, 18, 20
h) Distinguish between classification and tabulation of data.
@08 OBNY SNeFTTd [T TEs, TINEFTT STODS 555@573&3?\’% SRA.
i)  What is Pie diagram ?
R, CesoodE omdesd ?
j)  What is negative correlation ?
AFFIYT ABROWOT 0BT ?
k)  Write the formula for co-efficient of variation.
DBOTOD TOFOTT AR, WTOWD.
1)  Calculate mode for the following data
BINT T, XE, WBOWFBI), FOBOLBOWD.
X : 12, 6, 24, 8, 12, 15, 49, 56, 12
m) What is time series ?
M0 B erd 0TTERD ?
PART-B
Answer any SIX of the following. Each question carries 5 marks. (6%5=30)
FINT CORPYTOTCR 6 JBRYH LVZOA. T,E [T § ©oIN.
2. Calculate simple arithmetic average for the following data.
FINT TI0TNR TTY IToTO TORO&LEROWD.
X : 20, 28, 34, 39, 42, 50, 53, 54, 59, 64, 72, 76, 79, 80.
3. Calculate Q,, Q,, D,, D,, P, and P, for the following data.
B9NS 378 Q,, Q;, Dy, Dy, Py, 023 P, s0R0WEOWD.
Marks 63 |74 |56 |48 |82 [ 85 |90
Frequency 213 |14 |8 (3|2 1
4. Explain the importance of statistics.
0300, TOVT WTITTY, IO
5. Calculate mode for the following data.
BINT TZQ0BNON WTOVE ToROLBAWD.
C-1 | 20-25 |{25-30 | 30-35| 35-40 | 40-45 | 45-50 | 50-55 [ 55-60
F 8 15 28 30 22 10 4 3
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10.

Calculate quartile deviation and its co-efficient for the following data.

NI ﬁo&rosgftéﬁ WD QoS R0B) TT MOFe0s FormdROW0.

Age (in years) 30 | 40 50 60 70 80
ho. of Pearsons(f) 10 14 20 25 18 13

Construct a bar diagram for the following data.

S9N QBGT T03F Ford Feanndg Iy AWFA.

Year Gross profit Expenses
2016-17 90,000 41,000
2017-18 83,000 38,000
2018-19 71,000 35,000
2019-20 70,000 35,000
2020-21 60,000 30,000
2021-22 50,000 20,000

Explain the various types of data.
TT03T DG T,FT0NIIY, D@OR.
Calculate Karl Pearson’s coefficient of correlation for the following data.
NS BNWER T FLONT R TRT IBROWOT NMOTF0T FORILECID.

X| 3|6 |09 12| 15| 18| 21

Y | 25| 19| 14| 11| 10| 12| 7
PART-C

Answer any TWO of the following. Each question carry 10 marks. (2x10=20)

FUNT IRRTTTe 2 JJNen eUZ0R. T JFne 10 ©oFNL.

Construct regression equations of X on Y and Y on X for the following data and also

find correlation co-efficient.

FINS TS203NON X I e Y 3020 Y 8 06 X 3 &0BOI0Dd RQETTENTIY, Ted

=B BTT [BROWOT rbs—a‘aoswwgt FOROLEOWD.

X6 |9 12|15 | 8 14

Y |5 {2015 12] 9 11

[P.T.O.
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11.

12.

Following are the marks scored by two students A and B in Economics. Find who is
more consistent in obtaining marks.

BINS B203Y A T3 B Im, FTID s@rzampe, S88 @osndsy §,38amgs. ciRs
DT, DF ejoﬁﬁ@éai wcﬁo&n@wdq P\épé o*&raoaz:s%é @owdagl BOTEILERCAD.

A | 50|50 70| 40| 30| 60

B [30][90] 70| 80| 60| 50

10 Competitors in a beauty contest were ranked by 3 judges in the following order.
By using rank correlation find out which 2 pair of judges have a common taste
towards the beauty.

10 =3 'A)L@Fﬁ%‘b psdlelnfevely :o;z,ﬁrojaeig,, SORT &I 3eD)F MOTO0T JWEH T, 08° 3,ee3
BINTOST. T9,08° IBROLIOT MIFI0T I ORI QU e FPOTODF FFFODY,
0T3¢ 9T moam%ci TOBOBOWD.

Judge 1 1 3 14 |7 106 |9 |2 |5 |8

Judge 2 S (2 |3 |4 |1 |89 |7 ]10|6

Judge 3 101 [8 721963 4]s




